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Section B: Public Law

Answer either question 3 or question 4.

These questions require you to:
* demonstrate knowledge and understanding of the English legal system and legal rules
and principles
* apply legal rules and principles to a scenario in order to present a legal argument using
appropriate legal terminology
e analyse and evaluate legal rules, principles and concepts.
Credit will be given for the use of relevant supporting case law and authority.
EITHER,

Question 3: Criminal Law

(c) Assess the circumstances when liability may be imposed for an omission. [9]
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Sticky Note

(AO2) – 5 marks
Candidate demonstrates excellent knowledge of the offences (AO1) but there is no
attempt whatsoever to apply that knowledge to the scenario, with particular focus
needed on S20 and S18. The lack of AO2 detail therefore limits the marks available.






















The scenario below should be used when assessing part (d)

(d)

© WJEC CBAC Ltd.

Aaya and Steve were due to go to Mo’s 18" birthday party but had a row
shortly before leaving for the party that evening. Steve walked out, saying that
he needed to calm down and would make his own way to Mo’s flat later.
When Aaya got to the party, the first thing that she saw was Steve kissing
Josie, one of her best friends. Without thinking, Aaya grabbed a heavy vase
from a side table and threw it as hard as she could at Steve who fell to the
ground, hitting his head on the tiled floor. Mo called for an ambulance and
Steve was taken to hospital immediately. After initial assessment, the doctor
informed Steve that he needed a blood transfusion as a matter of urgency
which he refused on religious grounds. When Aaya arrived at the hospital,
she was told that Steve had suffered severe brain damage which could leave
him seriously disabled.

Advise Aaya as to whether she is likely to be charged with any non-fatal
offence. [

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to
mention all the material mentioned below. Each answer will be assessed on
its merits according to the assessment grid and the indicative content.
Examiners should seek to credit any further admissible evidence offered by
candidates.

In advising Aaya, candidates are expected to apply the full range of legal
rules and principles relating to her situation. In this case, candidates will need
to consider the actus reus (including causation) and mens rea of S20 and S18
Offences against the Person Act 1861.

The response might consider issues such as:

e Potential charges: GBH with intent (S18 OAPA 1861) or GBH (S20 OAPA
1861)

e S18 Actus Reus: Can be committed in one of two ways: wounding or
inflicting GBH. A wound must break the inner and outer skin — JCC (A
Minor) v Eisenhower (1984). Therefore, not satisfied here as there no
break in the continuity of the skin.

e Inflicting GBH = means “really serious harm” — DPP v Smith (1961) but it
does not have to be life threatening — Saunders (1985). The severity of
the injuries will be assessed according to the victim’s age and health —
Bollom (2003). Severe brain damage would constitute GBH and this
element is therefore satisfied.

e Causation: “but for” test — Pagett (1983) satisfied. Legal causation — injury
must be the operating and substantial cause of death — Smith (1959).
Satisfied here. Thin skull test — Blaue (1975) — Aaya must take her victim
as she finds him and Steve’s refusal to accept a blood transfusion does
not break the chain.

e Mens Rea: either the intention to cause GBH — specific intent offence —
Belfon (1976) or the intention to resist or prevent a lawful arrest. This
might be satisfied as Aaya threw the vase as hard as she could.

o As it states that Aaya grabbed the vase “without thinking”, arguably she
might not have the specific intent required for S18. An alternative S20
charge might be considered.

e Actus reus is as for S18 above.
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¢ Mens Rea: intention or subjective Cunningham (1957) recklessness as to
whether another person suffered some harm. No need to prove that the
defendant foresaw the actual degree of harm caused — Parmenter,

Savage (1992).

o Lower mens rea of S20 capable of being satisfied.

Assessment grid for Q3(d)

Band Marks

AO2: Apply legal rules and principles to given
scenarios in order to present a legal argument
using appropriate legal terminology

Excellent application of legal rules and principles
to Aaya’s situation.

Excellent presentation of a legal argument using
appropriate legal terminology, case law and other
legal authorities regarding whether Aaya could
be charged with S20/S18 Offences against the
Person Act 1861. The legal argument is detailed,
fully developed and persuasive.

Good application of legal rules and principles to
Aaya’s situation.

Good presentation of a legal argument using
appropriate legal terminology, case law and other
legal authorities regarding whether Aaya could
be charged with S20/S18 Offences against the
Person Act 1861. The legal argument is
generally detailed, developed and persuasive.

Adequate application of legal rules and principles
to Aaya’s situation.

Adequate presentation of a legal argument using
some appropriate legal terminology, case law
and other legal authorities regarding whether
Aaya could be charged with S20/S18 Offences
against the Person Act 1861. The legal argument
includes some detail which is developed in
places.

Basic application of legal rules and principles to
Aaya’s situation.

Basic presentation of a legal argument using
minimal legal terminology, case law and other
legal authorities regarding whether Aaya could
be charged with S20/S18 Offences against the
Person Act 1861. The legal argument includes
minimal detail.

Response not creditworthy nor attempted.

21



































Section B: Public Law

Answer either question 3 or question 4.

These questions require you to:
* demonstrate knowledge and understanding of the English legal system and legal rules
and principles
* apply legal rules and principles to a scenario in order to present a legal argument using
appropriate legal terminology
e analyse and evaluate legal rules, principles and concepts.

Credit will be given for the use of relevant supporting case law and authority.
EITHER,
Question 3: Criminal Law

(

Read the scenario below and answer part (d).

Aaya and Steve were due to go to Mo’s 18th birthday party but had a row shortly before
leaving for the party that evening. Steve walked out, saying that he needed to calm down and
would make his own way to Mo’s flat later. When Aaya got to the party, the first thing that she
saw was Steve kissing Josie, one of her best friends. Without thinking, Aaya grabbed a heavy
vase from a side table and threw it as hard as she could at Steve, who fell to the ground,
hitting his head on the tiled floor. Mo called for an ambulance and Steve was taken to hospital
immediately. After initial assessment, the doctor informed Steve that he needed a blood
transfusion as a matter of urgency, which he refused on religious grounds. When Aaya arrived
at the hospital, she was told that Steve had suffered severe brain damage, which could leave
him seriously disabled.

(d) Advise Aaya as to whether she is likely to be charged with any non-fatal offence. [9]
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Sticky Note

(AO1) - 6 marks
An excellent answer. Candidate defines what is meant by strict liability and uses a
commendable array of relevant case law to illustrate its application. Explanation of
the Gammon principles also provided.






















Question 3: Criminal Law

3. (@) Explain what is meant by a strict liability offence. [6]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to
mention all the material mentioned below. Each answer will be assessed on
its merits according to the assessment grid and the indicative content.
Examiners should seek to credit any further admissible evidence offered by
candidates.

In explaining what is meant by a strict liability offence, candidates are
expected to demonstrate knowledge and understanding of the English legal
system and legal rules and principles underlying strict liability offences. In
demonstrating this knowledge and understanding, candidates are required to
focus on the specific nature of the question set and not simply give a general
answer.

The response might consider issues such as:

e Most crimes have both actus reus and mens rea.

e With strict liability offences, only a voluntary actus reus needs to be
proved to establish liability. There is no need to prove mens rea for a least
one element of the actus reus.

o Liability is established without fault on the part of the defendant and the
defence of mistake is not available.

e Tend to be regulatory offences where the punishment is low level.

e Examples could include: construction — Gammon (HK) Ltd v AG (1985);
food hygiene — Callow v Tillstone (1900); pollution — Alphacell v
Woodward (1972).

e Most strict liability offences are statutory offences but sometimes the
statute does not make the nature of the offence clear; it is then up to the
courts to consider whether mens rea needs to be proved — Sweet v
Parsley (1970).

Assessment grid for Q3(a)

AO1: Demonstrate knowledge and understanding
Band Marks | of the English Legal System and legal rules and
principles
e Excellent knowledge and understanding of the
English Legal System and legal rules and principles
3 5-6 : TR >
relating to strict liability offences in criminal law.
Response is clear, detailed and fully developed.
e Good knowledge and understanding of the English
Legal System and legal rules and principles relating
2 3-4 LA >
to strict liability offences in criminal law. Response
is generally clear, detailed and fully developed.
e Basic knowledge and understanding of the English
Legal System and legal rules and principles relating
1 1-2 LA N
to strict liability offences in criminal law. Response
includes minimal detail.
0 Response not credit worthy or not attempted.

© WJEC CBAC Ltd. 15


































Section B: Public Law

These questions require you to:
* demonstrate knowledge and understanding of the English legal system and legal rules
and principles
* apply legal rules and principles to a scenario in order to present a legal argument using
appropriate legal terminology
e analyse and evaluate legal rules, principles and concepts.
Credit will be given for the use of relevant supporting case law and authority.
EITHER,
Question 3: Criminal Law

(@) Explain what is meant by a strict liability offence. [6]

© WJEC CBAC Ltd. (B150U20-1)





























































































Sticky Note

(AO1) – 5 marks
Overall a very good answer with a creditable attempt to use relevant case law.
Cases not always factually correct – e.g. information provided on Logdon. Important
also to correctly identify S39 Criminal Justice Act 1988 as being relevant in this
instance.























Sticky Note

(AO1) - 3
Generally good explanation of the AR of the offences but MR not fully defined – e.g.
for battery. Wider use of case law would have improved the mark.










(b)

© WJEC CBAC Ltd.

Explain the actus reus and mens rea of assault and battery. [6]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to
mention all the material mentioned below. Each answer will be assessed on
its merits according to the assessment grid and the indicative content.
Examiners should seek to credit any further admissible evidence offered by
candidates.

In explaining the actus reus and mens rea of assault and battery, candidates
are expected to demonstrate knowledge and understanding of the English
legal system and legal rules and principles underlying the offence. In
demonstrating this knowledge and understanding, candidates are required to
focus on the specific nature of the question set and not simply give a general
answer.

The response might consider such issues as:

Assault:

e Common law offence charged under S39 CJA 1988

Actus Reus:

e An act or words, written — Constanza (1997) or spoken — Ireland (1997).
Words may also negate an assault —Tuberville v Savage (1669).

e Which cause the victim to apprehend the infliction of immediate unlawful
force. Therefore, pointing an unloaded gun at someone who knows it to
be unloaded is not an assault — Lamb (1967). Immediate means
“imminent” in the sense that the V is afraid because she does not know
what the D is going to do next — Smith v Chief Superintendent of Woking
Police Station (1983).

Mens Rea:

e Intention or subjective — Cunningham (1957) recklessness as to causing
another to fear immediate unlawful force.

Battery:

e Common law offence charged under S39 CJA 1988

Actus Reus:

e Application of unlawful force to another person.

o Unlawful force = the slightest touching such as taking hold of the V by the
arm - Collins v Wilcock (1984). It is not limited to touching the V’s body
but also includes touching clothes — Thomas (1985).

e Force can be direct as with a punch to the V’s face or indirect Haystead v
DPP (2000).

e Unlike assault, battery can be based on an omission provided that the D
has a duty to act, such as to give an honest reply to a PO’s question as to
whether he has needles in his pocket — DPP v Santana Bermudez (2004).

o Consent may render the force used lawful — e.g. in contact sports —
Barnes (2004).

Mens Rea:

¢ Intention or subjective — Cunningham (1957) recklessness as to the
application of immediate unlawful force on another.
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Assessment grid for Q3(b)

Band

Marks

AO1: Demonstrate knowledge and
understanding of the English Legal System and
legal rules and principles

5-6

Excellent knowledge and understanding of the
English Legal System and legal rules and
principles relating to the actus reus and mens rea
of assault and battery. Response is clear,
detailed and fully developed.

3-4

Good knowledge and understanding of the
English Legal System and legal rules and
principles relating to the actus reus and mens rea
of assault and battery. Response is generally
clear, detailed and fully developed.

1-2

Basic knowledge and understanding of the
English Legal System and legal rules and
principles relating to the actus reus and mens rea
of assault and battery. Response includes
minimal detail.

Response not credit worthy or not attempted.
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Section B: Public Law

Answer either question 3 or question 4.

These questions require you to:
* demonstrate knowledge and understanding of the English legal system and legal rules
and principles
* apply legal rules and principles to a scenario in order to present a legal argument using
appropriate legal terminology
e analyse and evaluate legal rules, principles and concepts.
Credit will be given for the use of relevant supporting case law and authority.
EITHER,

Question 3: Criminal Law

(b) Explain the actus reus and mens rea of assault and battery. [6]

© WJEC CBAC Ltd. (B150U20-1)
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Sticky Note

(AO3) – 7 marks
Very good knowledge and understanding and commendable use of case law.
Unfortunately, the candidate’s mark is depressed due to total lack of evaluation
(AO3).






















(€)
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Assess the circumstances when liability may be imposed for an omission. [9]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to
mention all the material mentioned below. Each answer will be assessed on
its merits according to the assessment grid and the indicative content.
Examiners should seek to credit any further admissible evidence offered by
candidates.

In order to achieve the highest marks, candidates must demonstrate their
ability to draw together details and cases from areas to evaluate where an
exception has been made allowing liability to be imposed for failing to act.

Candidates will offer an assessment of the legal rules, principles and
concepts in order to assess when the actus reus can be based on an
omission.

The response might consider issues such as:

o Definition of actus reus — physical element of a crime; it can be an act, a
failure to act or a state of affairs.

¢ Normally an omission cannot make a person guilty of an offence.
Omission is only sufficient for the actus reus when there is a duty to act.

o Duty to act imposed: by statute — e.g. S6 RTA 1988 but usually by the
courts: by contract — Pittwood (1902); due to a special relationship —
Stone & Dobinson (1977); arising from assumption of responsibility —
Instan (1893); misfeasance in public office — Dytham (1979); the
defendant inadvertently creates a dangerous situation, becomes aware of
it but does nothing to rectify it - Miller (1983), Evans (2009)

e Critique of such judicial development: reactive rather than proactive
leading to haphazard development and does not prevent crime; Art 7
implications — law should be clear and should not work retrospectively —
Sinclair, Johnson & Smith (1998); Rule of Law implications — law should
guide us as to proper conduct is right or wrong, not tell us after the event
that we behaved wrongly.

o Discussion of lack of Good Samaritan Law in the UK.

¢ Andrew Ashworth — “The Scope of Criminal Liability for Omissions”
suggests that where a rescue would pose no danger to the Defendant,
liability should be imposed for failing to act, even where there is no legal
duty to act.
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Assessment grid for Q3(c)

Band

Marks

AQO3: Analyse and evaluate legal rules, principles
and concepts

8-9

Excellent analysis of legal rules, principles and
concepts relevant to when liability can be
imposed in criminal law for failing to act.
Analysis is detailed with appropriate range of
supporting evidence which draws together
knowledge, skills and understanding.
Excellent evaluation of when liability can be
imposed in criminal law for an omission,
including a valid and substantiated judgement.
Excellent citation of supporting case law and
legal authorities.

Good analysis of legal rules, principles and
concepts relevant to when liability can be
imposed in criminal law for failing to act.
Analysis is generally detailed with appropriate
range of supporting evidence which draws
together knowledge, skills and understanding.
Good evaluation of when liability can be imposed
in criminal law for an omission, including a valid
judgement.

Good citation of supporting case law and legal
authorities.

3-5

Adequate analysis of legal rules, principles and
concepts relevant to when liability can be
imposed in criminal law for failing to act.
Analysis includes some detail with appropriate
range of supporting evidence which draws
together knowledge, skills and understanding.
Adequate evaluation of when liability can be
imposed in criminal law for an omission,
including reference to a judgement.

Adequate citation of supporting case law and
legal authorities.

1-2

Basic analysis of legal rules, principles and
concepts relevant to when liability can be
imposed in criminal law for failing to act.
Analysis includes minimal detalil.

Basic evaluation of when liability can be imposed
in criminal law for an omission.

Basic citation of supporting case law and legal
authorities.

Response not creditworthy or not attempted.
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Sticky Note

(AO2) – 6 marks
Candidate has correctly focused on identifying Linda as a secondary victim who has
suffered psychiatric harm. Good understanding of the Alcock requirements and
mention of the key issues to be proved in such a negligence claim. Also good
application of the law to the scenario but the response is weakened by a total
absence of supporting citation.






















The scenario below should be used when assessing part (d)

(d)

© WJEC CBAC Ltd.

Richard and Cassie were on their way to college as they had a Psychology A
level examination that afternoon. Richard was driving his mother's BMW. He
was foolishly exceeding the speed limit and joking with his girlfriend rather
than concentrating on the road. However, he reacted quickly, skidding to a
halt when a young child, Lucy, dashed out in front of the car. She had run out
from behind a parked car. Fortunately, she was not seriously injured but had
a minor cut on her left arm. Her mother, Linda, however, was in a dreadful
state. She was still standing on the pavement, “frozen” to the spot and was
barely able to speak with the shock of it all. Subsequently Richard received a
letter advising him that Linda was claiming that she had suffered psychiatric
injury as a result of the incident and was suing him for negligence.

Advise Richard what Linda will need to prove to succeed in a claim for
psychiatric injury against him. [9]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to
mention all the material mentioned below. Each answer will be assessed on
its merits according to the assessment grid and the indicative content.
Examiners should seek to credit any further admissible evidence offered by
candidates.

In advising Richard, candidates are expected to apply the full range of legal
rules and principles relating to Richard’s situation. In this case, candidates will
need to consider the position of secondary victims under the tort of
negligence and apply the law to the incident.

The response might consider issues such as:

e To claim damages for psychiatric shock, Linda will have to show that she
has a recognised psychiatric injury that goes beyond normal grief or
distress.

e Unlikely to be a primary victim: has not suffered physical injury or suffered
psychiatric injury where it was reasonably foreseeable that she could
have been injured as a result of another person’s negligence — standing
on the pavement, not the road.

e Likely to be classed as a secondary victim — not directly involved with the
original accident or at risk of physical injury but nonetheless witnessed
injury to another and suffered psychiatric injury as a result.

e Conditions laid down in Alcock v Chief Constable of South Yorkshire
Police (1992) - must be able to show: sufficiently proximate relationship to
the original victim (“close tie of love and affection”); must witness the
event with her own unaided senses, hear the event in person or view its
immediate aftermath- McLoughlin v O’Brien (1983). Conditions capable of
being satisfied — “close tie of love and affection” exists between mother
and daughter, witnessed her daughter being injured and therefore was
proximate in time and place as she was at the scene of the original
accident.

e Sitill needs to establish duty of care (Caparo test), breach, causation and
that the injury sustained was a reasonably foreseeable consequence of
breach.
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Assessment grid for Q2(d)

Band

Marks

AQO2: Apply legal rules and principles to given
scenarios in order to present a legal argument

using appropriate legal terminology

8-9

Excellent application of legal rules and principles
to Richard and Linda’s situation.

Excellent presentation of a legal argument using
appropriate legal terminology, case law and other
legal authorities regarding whether Linda will be
able to succeed in a claim for psychiatric injury
against Richard. The legal argument is detailed,
fully developed and persuasive.

6-7

Good application of legal rules and principles to
Richard and Linda’s situation.

Good presentation of a legal argument using
appropriate legal terminology, case law and other
legal authorities regarding whether Linda will be
able to succeed in a claim for psychiatric injury
against Richard. The legal argument is generally
detailed, developed and persuasive.

3-5

Adequate application of legal rules and principles
to Richard and Linda’s situation.

Adequate presentation of a legal argument using
some appropriate legal terminology regarding
whether Linda will be able to succeed in a claim
for psychiatric injury against Richard. The legal
argument includes some detail which is
developed in places.

Basic application of legal rules and principles to
Richard and Linda’s situation.

Basic presentation of a legal argument using
minimal legal terminology regarding whether
Linda will be able to succeed in a claim for
psychiatric injury against Richard. The legal
argument includes minimal detail.

Response not creditworthy nor attempted.
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Question 2: Law of Tort

Read the scenario below and answer part (d).

Richard and Cassie were on their way to college as they had a Psychology A level
examination that afternoon. Richard was driving his mother's BMW. He was foolishly
exceeding the speed limit and joking with his girlfriend rather than concentrating on the road.
However, he reacted quickly, skidding to a halt when a young child, Lucy, dashed out in front of
the car. She had run out from behind a parked car. Fortunately, she was not seriously injured
but had a minor cut on her left arm. Her mother, Linda, however, was in a dreadful state.

She was still standing on the pavement, ‘frozen’ to the spot and was barely able to speak

with the shock of it all. Subsequently, Richard received a letter advising him that Linda was
claiming that she had suffered nervous shock as a result of the incident and was suing him for
negligence.

B150U201

03

(d) Advise Richard on what Linda will need to prove to succeed in a claim for psychiatric
injury against him. [9]
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